

Welcome To

D-Bucks

AUTOPOOL, CRYPTOCURRENCY WITH PROOF OF BURNING













Our Services



Marketing Analysis



AI - Robots Selling



Merchandising



Financial Analysis



Crowd Funding



Referral Program

INDIA

INTERNATIONAL PARTNERS

192/2 , Dostyk Avenue, Almaty - 050000, Kazakhstan.













Pancake Swap

BEP-20

Liquidity Pool addition Via

- 5% of T.T.O (Auto pool)
- 5% of Pay outs
- 5-10% of other Projects
- Many More







MLFY TOKEN

- Total Supply 10Cr.
- Locked For 50 Month 8Cr.
- Rest Circulating Supply 2 Cr.
- Based On BLOCKCHAIN BEP-20
- Centralized Exchange AZ BIT
- DES Exchange Pancake Swap



Join Now

With 33\$ Tripod Or 33\$ Only

100% DISTRIBUTION

50% Referral 25% Guerdon 20% Direct 05% Burning

Next Auto Topups

42\$,75\$,200\$,1000\$,5000\$,20000\$, 100000\$









Minimum Amount 33\$





Start with
Minimum
Tripod Structure
(100\$)

Non Working

- Get 1st Pay-out of Tokens of 46\$ and Buy/Hold tokens for Max 1 Year It can give you 3X,5X,10X,100X,1000X..
- May Auto Spill by your Team Leaders can give you 2X, 5X,10X, (See Auto pool Benefits)
- Participate in Pool's Minimum Gurantee Program (100\$)

Working Income

 See Income Career (Direct, Autopool , Binary Gains, Rewards, Tours, Bonanzas etc)



1st Upline Perk 50%

2x Autopool



RANK	USER	UPGRADE AMOUNT	TOTAL TEAM UPGRADE	YOUR INCOME
Bronze	2	33\$	66\$	33\$
Silver	4	42\$	168\$	84\$
Gold	8	75\$	600\$	300\$
Crown	16	200\$	3200\$	1600\$
Platinum	32	1000\$	32000\$	16000\$
Ruby	64	5000\$	320000\$	160000\$
Perl	128	20000\$	2560000\$	1280000\$
Diamond	256	100000\$	25600000\$	12800000\$
				TOTAL = 14258017\$

2

Direct 20%

1 Direct = 20%

20% Of 33\$-42\$-75\$-200\$-1000\$+5000\$+20000\$-1lac\$

=25270\$







if you have 5 Directs, 7 Directs, 10,20 Directs = 20 * 25270 = 5Lac\$





SI	R.NO	TITELS	MATCHING	GUERDON
	1	SOP (Stand Out Performer)	2000\$	150\$
	2	EMP (Extra Mile Performer)	10000\$	500\$
	3	TEP (The Eccentric Performer)	40000\$	2000\$
	4	THF (The High Flyer)	200000\$	10000\$
	5	TAF (The Ace Flyer)	750000\$	30000\$
	6	TMM (The Mountain Mover)	3500000\$	150000\$
	7	TGD (The Growth Driver)	20000000\$	1000000\$
	8	TIM (The Iron Man)	100000000\$	5000000\$
	9	TC (The Conquerer)	500000000\$	10000000\$













192/2, Dostyk Avenue, Almaty - 050000, Kazakhstan.





This Pdf Is Design By Graphic Designer Sanu

+91 6297815470

sanugfx.com